
Riduttori a coppia conica 

Stainless steel shielded helical bevel gearboxes Section 6L

This range is � � � � � � � � � �



X22L

X42L

Center distance
Interasse

Input power Hollow output shaft

-

-

� 	 
� 	 �X32L

X52L

X62L

-

-

-

� 	 
� � 
� � �

FEATURES
Caratteristiche

This product is:

Coppia

Type
Tipo

Torque


 � �

Stainless steel shielded helical bevel gearboxes

Output shaft is produced in AISI 316L.

Sealed The “L” series is an already totally enclosed aluminum 

gearboxes, that is shielded and sealed by stainless steel 

316L case.

� � � � � � � � � �



FEATURES


 � �

Stainless steel 316L hollow output shaft.

Viton seals with stainless steel 316L shield.

Hardened and ground gears.

Protection cap in AISI 316L.




 � �

M X42L 7.29I

P

B

M A

I

-C

X42L

X42L

X22L X32L

X22L X32L

X52L

X52L

X62L

X62L

-C

-L

-B

-I

-D

-M

-E

-N

ø20

ø20

FB

BR

PV

PA

BR

X22L

X32L

X42L

X52L

X62L

Type Size Ratio

See technical

data table

Hollow output shaft Hollow output shaft

Single output shaft

Single output shaft

Hub Output shaft Type

Universal

Reaction arm

How to order

Tipo

dati tecnici

RapportoMozzo Tipo



N B3-T

N

-D

-E

-P

-Q

-R

-T

-U

  

B3 A

B6 B

B7 C

B8 D

V5

V8

V6

IEC B5

IEC B14

E


 � 


Flange

-M
With coupling

Con giunto

With Type M specify 

terminal box position

Terminal box positionMotor size Mounting position Input bore

0

B
C
D
E
F

-

With coupling
Con giunto

Ready for input  

coupling



Lifting Linear movement - TraslazioneRotation - Rotazione

Required power 

Torque - Coppia

Radial loads - Carichi radiali

Radial load generated by external transmissions keyed onto input and/or output shafts.

M:  - 

d:  - 

f
k
: Factor - 

1.15: Gearwheels - Ingranaggi 

1.25: Chain sprochets - Catena  

1.75: Narrow v-belt pulley - Cinghia Trapezoidale

2.50: Flat-belt pulley - Cinghia piatta

P[kW] = 
M[Kg] g

1000

v
P[kW] = 

M n

9550
P[kW] = 

F[N] v

1000

M  = M[lb in] = 
9550 63030P[kW] P[HP]

n n

FR[N] = FR[N] = 
M  M[lb in] 2000 8.9

d d[in]

f
k f

k

FR


 � �



Output

speed

... ...

2.6

... ...

4.83

7.40

9.58

10.98

13.07

14.66

15.79

16.81

20.00

... ...

0.95

0.62

0.64

0.63

0.53

0.47

0.44

0.41

0.37

...

� � � � � � � �� � �30

30

40

45

45

45

45

45

48

...

02

04

06

...

Service

factor

Motor

power

Nominal

torque

Output

shaft
Ratio

Nominal

power

Output

torque

Input speed (n
1
) = 1400 min-1

Ratio

code

n
2 

] -

-
P [kW] M

2R 
i P [kW]M

2M -

- �
C

C

C

C

C

C

C

C

C

...

X22L � � � �
-P -Q

Stainless steel shielded helical bevel gearboxes

How to select a gearbox

Select output speed

B

C

A

C

B

D

A

D

B)

Output speed

Ratio
Rapporto

Oper. hours per day

application with 

3h 10h 24h 

Moderate - Moderato 

Moderate - Moderato 

Heavy - 

Heavy - 

Mounting with reduction bushing

Available without reduction bushing

Gear size

riduttore

Notes
Note

Motor power

Flange code Input speed

> 10 
 �  



= =

X

Lubrication Radial and axial loads
Carichi radiali e assiali

Output

speed

64

2.64.83

7.40

9.58

10.98

13.07

14.66

15.79

16.81

20.00

21.93

24.18

29.04

33.57

38.67

44.44

59.18

70.24

42

0.95

0.62

0.64

0.63

0.53

0.47

0.44

0.41

0.37

0.35

0.32

0.26

0.23

0.20

0.17

0.13

0.11

� � � � � � � �� � �
30

30

40

45

45

45

45

45

48

50

50

50

50

50

50

50

50

02

04

06

Service

factor

Motor

power

Nominal

torque

Output

shaft
Ratio

Nominal

power

Output

torque

Input speed (n
1
) = 1400 min-1

Ratio

code

n
2 

] -

-
P [kW] M

2R 
i P [kW]M

2M -

-

B)

�
C

C

C

C

C

C

C

C

C

C

C

C

C

C

C

C

C

X22L

Agip Shell

Tab. 1

Output shaft

400

250

150

100

75

50

25

15

2200

2200

2200

2200

2200

420

440

440

440

440

440

n
2 

] FR [N]FA [N]

Tab. 2

FR (N)

Feq (N)

FA (N)

Feq = FR
X + 23

42

B3 B8

V8

ASK

B6 V5

B7
t

V6

� � � �

Supplied with reduction bushing Available on request without reduction bushing

Unit X22L is supplied with synthetic oil to assure long life lubrication.

Food grade oil is available on request. 

See Table 1 for lubrication and recommended quantity.

See Table 2 for possible radial and axial loads on the gearbox.


 � !

Stainless steel shielded helical bevel gearboxes

-P -Q

Always specify the mounting position



Standard Hollow shaft
Foro in uscita standard

Reaction Arm
Braccio di reazionePX22L ..BR

kit cod. KX2L9027

KX2L9022

PX22L ..PV Feet
Piedini

Protection cap ( on request )
A richiesta coperchio di protezione

Single output shaft
Albero semplice in uscita

Basic gearbox
Riduttore base

Gearbox weight
Peso riduttore

7.0 kg

Mounting holes
position 

Posizione fori
di montaggio

PX22L ..PA Feet
Piedini

PX22L.. ..A

kit cod. KIX2S5028

X22L...P

M. flanges Kit code AøF

63B14

71B14

KI504047

KI504045

No threaded
Non filettato

90

105

155
 

152.5

cod. X2L0209

2.5

ø
55

 h
8

4 holes M6x17.5

134.5

18

65

ø9

112.5

100

524

ø9.5

65

12
3

155

4

135 100

120

60

ø9.5

100

62.5

60

40

ø
20

 k
6

6

20H7

22
.8

M8x20

6

55

11
3

70

18

øF

37.5

22
.5

90

A

100

18

100

120ø9.5

52

To mount any kit or the gearbox 
on the machine remove 

the 4 screws
Per montare il kit o il riduttore 

nella macchina rimuovere le 4 viti

197

X22L


 � " #




 � " " = =

X

* Power higher than the maximun one which can be supported by the gearbox. Select according to the torque M
2R

Lubrication Radial and axial loads
Carichi radiali e assiali

Output

speed

7.33

11.22

13.26

15.37

18.04

20.30

21.54

23.53

27.62

29.40

32.97

38.37

45.00

50.67

58.73

77.55

1.5

1.2

0.98

0.89

0.76

0.68

0.64

0.58

0.50

0.47

0.42

0.36

0.31

0.27

0.23

0.18

� � � � � � � �� � �
70

85

85

90

90

90

90

90

90

90

90

90

90

90

90

90

02

04

06

Service

factor

Motor

power

Nominal

torque

Output

shaft
Ratio

Nominal

power

Output

torque

Input speed (n
1
) = 1400 min-1

Ratio

code

n
2 

] -

-
P [kW] M

2R 
i P [kW]M

2M -

-

B)

�
C

C

C

C

C

C

C

C

C

C

C

C

C

C

C

C

C

C

C

C

C

C

C

C

C

C

C

C

C

C

C

C

-T-Q -R

X32L

Agip Shell

Output shaft

250

150

100

75

50

25

15

2000400

n
2 

] FR [N]FA [N]

FR (N)

Feq (N)

FA (N)

Feq = FR

B3

0.40 LT

B8

0.60 LT

V8

ASK

B6

0.60 LT

V5

B7
t

0.40 LT

V6

0.60 LT

� � � �

Supplied with reduction bushing Available on request without reduction bushing

Unit X32L is supplied with synthetic oil to assure long life lubrication.

Food grade oil is available on request. 

See Table 1 for lubrication and recommended quantity.

See Table 2 for possible radial and axial loads on the gearbox.
47.5

X + 28.5

Stainless steel shielded helical bevel gearboxes

Tab. 1 Tab. 2

Always specify the mounting position



Standard Hollow shaft
Foro in uscita standard

Reaction Arm
Braccio di reazionePX32L ..BR

kit cod. KX3L9027

kit cod. KX3L9022

PX32L ..PV Feet
Piedini

Single output shaft
Albero semplice in uscita

Basic gearbox
Riduttore base

12.0 kg

Mounting holes
position 

Posizione fori
di montaggio

PX32L ..PA Feet
Piedini

PX32L.. ..A

kit cod. KIX3S5028

X32L...P

M. flanges Kit code AøF

71B14

80B14

90B14

KI634047

KI634046

KI634041

105
 

120
 

140

182.5
 

184.5
 

184.5

Protection cap ( on request )
A richiesta coperchio di protezione

cod. X3L0209

Gearbox weight
Peso riduttore

ø
68

 h
8

4 holes M8x20

26

75

ø11

128

110

62.55

ø9.5

75

16
0

180

4

160 120

140

70

ø9.5

120

74

70

40

ø
20

 k
6

6

20H7

22
.8

M8x20

6

70

15
5

88

26

øF

37.5

22
.5

100

A

120

26

120

140ø9.5

62.5

2.5

155

No threaded
Non filettato

To mount any kit or the gearbox 
on the machine remove 

the 4 screws
Per montare il kit o il riduttore 

nella macchina rimuovere le 4 viti

234.5

X32L


 � " $



= =

X

Lubrication Radial and axial loads
Carichi radiali e assiali

Output

speed

60

42.6

7.29

11.20

13.18

15.27

17.93

20.25

21.40

23.47

27.55

29.21

32.88

38.12

44.89

50.34

58.58

77.36

2.0

2.0

1.7

1.5

1.3

1.1

1.1

0.98

0.83

0.78

0.70

0.60

0.51

0.40

0.39

0.30

� � � � � � � �� � %
95

150

150

150

150

150

150

150

150

150

150

150

150

131

150

150

02

04

06

Service

factor

Motor

power

Nominal

torque

Output

shaft
Ratio

Nominal

power

Output

torque

Input speed (n
1
) = 1400 min-1

Ratio

code

n
2 

] -

-
P [kW] M

2R 
i P [kW]M

2M -

-

B)

�
C

C

C

C

C

C

C

C

C

C

C

C

C

C

C

C

C

C

C

C

C

C

C

C

C

C

C

C

C

C

C

C

-T-Q -R

X42L

Agip Shell

Tab. 1

Output shaft

250

150

100

75

50

25

15

4000

600

n
2 

] FR [N]FA [N]

Tab. 2

FR (N)

Feq (N)

FA (N)

Feq = FR

B3

0.60 LT

B8

V8

ASK

B6 V5

B7
t

V6

0.60 LT

� � � �

Supplied with reduction bushing Available on request without reduction bushing

Unit X42L is supplied with synthetic oil to assure long life lubrication.

Food grade oil is available on request. 

See Table 1 for lubrication and recommended quantity.

See Table 2 for possible radial and axial loads on the gearbox.


 � " �

54

X + 28

Stainless steel shielded helical bevel gearboxes

Always specify the mounting position



Standard Hollow shaft
Foro in uscita standard

Reaction Arm
Braccio di reazionePX42L ..BR

kit cod. KX4L9027

kit cod. KX4L9022

PX42L ..PV Feet
Piedini

Single output shaft
Albero semplice in uscita

Basic gearbox
Riduttore base

10.5 kg

Mounting holes
position 

Posizione fori
di montaggio

PX42L ..PA Feet
Piedini

PX42L.. ..A

kit cod. KX4I5028

X42L...P

M. flanges Kit code AøF

71B14

80B14

90B14

KI634047

KI634046

KI634041

No threaded
Non filettato

105
 

120
 

140

198
 

200
 

200

Protection cap ( on request )
A richiesta coperchio di protezione

cod. X4L0209

Gearbox weight
Peso riduttore

ø
80

 h
8

øF

110

56

3.5

49

5

4 holes M8x17.5

125.5

21
.8

85

ø11

180

150

566

20

ø9.5

85

16
7

170

150 140

160

80

ø9.5

110

67.5

80

-0
.0

05
-0

.0
20

59.5

ø
25

8

25H7

28
.3

M8x20

8

75

15
7

100

21
.8

52

28

114.5

A

21.8

140

160ø9.5

To mount any kit or the gearbox 
on the machine remove 

the 4 screws
Per montare il kit o il riduttore 

nella macchina rimuovere le 4 viti

260

X42L


 � " �



= =

X

Lubrication Radial and axial loads
Carichi radiali e assiali

Output

speed

2.2

2.2

2.2

6.03

9.26

11.36

15.36

17.46

19.97

23.60

24.45

30.69

35.35

37.57

48.68

54.33

74.81

220

3.4

2.6

3.1

2.5

2.2

1.9

1.6

1.6

1.2

1.1

1.0

0.78

0.70

0.43

� � � � � � � �� & �
135

155

230

250

250

250

250

250

250

250

250

250

250

210

02

04

06

Service

factor

Motor

power

Nominal

torque

Output

shaft
Ratio

Nominal

power

Output

torque

Ratio

code

n
2 

]

-E
P [kW] M

2R 
i P [kW]M

2M 

-D

Supplied with reduction bushing Available on request without reduction bushing
B)

�-U

X52L

Unit X52L is supplied with synthetic oil to assure long life lubrication.

Food grade oil is available on request. 

See Table 1 for lubrication and recommended quantity.

See Table 2 for possible radial and axial loads on the gearbox.

Tab. 1

Output shaft

250

150

100

75

50

25

15

4000

600

n
2 

] FR [N]FA [N]

Tab. 2

FR (N)

Feq (N)

Feq = FR

FA (N)

B3 B8

B6 V5

B7 V6

� � � �
Input speed (n

1
) = 1400 min-1

Agip Shell
V8

ASK


 � " �

61.5

X + 31

Stainless steel shielded helical bevel gearboxes

Always specify the mounting position



Standard Hollow shaft
Foro in uscita standard

Reaction Arm
Braccio di reazionePX52L ..BR

kit cod. KX5L9027

kit cod. KX5L9022

PX52L ..PV Feet
Piedini

Single output shaft
Albero semplice in uscita

Basic gearbox
Riduttore base

15.8 kg

Mounting holes
position 

Posizione fori
di montaggio

PX52L ..PA Feet
Piedini

PX52L.. ..A

kit cod. KIX5A5028

X52L...P

M. flanges Kit code AøF

80-90 B5

100-112 B14

KI854042

KI854041

No threaded
Non filettato

200

160

236.5
 

245.5

Protection cap ( on request )
A richiesta coperchio di protezione

cod. X5L0209

Gearbox weight
Peso riduttore

ø
95

 h
8

56.5

4 holes M8x21

156

34

10
5

ø21

240

200

666

25

ø12

10
5

20
5

200

6

175 150

180

90

ø12

130

79.5

90

-0
.0

05
-0

.0
20

68

ø
30

8

30H7

33
.3

M8x20

8

85

18
5

115

34

øF

60

33

133

A

130

34

150

180ø12

66

3.5

To mount any kit or the gearbox 
on the machine remove 

the 4 screws
Per montare il kit o il riduttore 

nella macchina rimuovere le 4 viti

306.5

X52L


 � " 




= =

X

Output

speed

4

4

4

4

4

2.2

6.03

9.26

11.36

15.36

17.46

19.97

23.60

24.45

30.69

35.35

37.57

48.68

54.33

74.81

6.1

4.5

4.7

3.8

3.5

3.1

2.7

2.6

2.0

1.8

1.7

1.1

1.2

0.73

� � � � � � � �� & %
240

270

350

385

400

410

410 

410

410

410

410

365

410

360

02

04

06

Service

factor

Motor

power

Nominal

torque

Output

shaft
Ratio

Nominal

power

Output

torque

Ratio

code

n
2 

]

-E
P [kW] M

2R 
i P [kW]M

2M 

-D

Supplied with reduction bushing Available on request without reduction bushing
B)

�-U

X62L

Unit X62L is supplied with synthetic oil to assure long life lubrication.

Food grade oil is available on request. 

See Table 1 for lubrication and recommended quantity.

See Table 2 for possible radial and axial loads on the gearbox.

Tab. 1

Output shaft

250

150

100

75

50

25

15

600

n
2 

] FR [N]FA [N]

Tab. 2

FR (N)

Feq (N)

Feq = FR

FA (N)

B3 B8

B6 V5

B7 V6

� � � �
Input speed (n

1
) = 1400 min-1

Agip Shell
V8

ASK


 � " �

Lubrication Radial and axial loads
Carichi radiali e assiali

69

X + 39

Stainless steel shielded helical bevel gearboxes

Always specify the mounting position



Standard Hollow shaft
Foro in uscita standard

Reaction Arm
Braccio di reazionePX62L ..BR

PX62L ..PV Feet
Piedini

Single output shaft
Albero semplice in uscita

Basic gearbox
Riduttore base

19.5 kg

Mounting holes
position 

Posizione fori
di montaggio

PX62L ..PA Feet
Piedini

PX62L.. ..A

X62L...P

M. flanges Kit code AøF

Protection cap ( on request )
A richiesta coperchio di protezione

Gearbox weight
Peso riduttore

80-90 B5

100-112 B14

KI854042

KI854041

200

160

255.5
 

264.5

kit cod. KX5L9027

kit cod. KX5L9022

kit cod. KX6I5028

cod. X5L0209

No threaded
Non filettato

ø
95

 h
8

66.5

4 holes M8x26

206

30

10
5

ø21

240

200

766

25

ø12

10
5

20
2

220

6

195 150

180

100

ø12

150

89.5

100

-0
.0

05
-0

.0
20

73.5

ø
35

10

35H7

38
.3

M8x20

10

95

19
2

115

30

øF

60

38

148.5

A

150

30

150

180ø12

76

3.5

To mount any kit or the gearbox 
on the machine remove 

the 4 screws
Per montare il kit o il riduttore 

nella macchina rimuovere le 4 viti

335.5

X62L


 � "  


